RISREBLEANTZITELIZRL) He must have visited Kyoto.
RISRELANTZHDE L NAL He may have visited Kyoto.

RISREBLANTZILFTTZ He could have visited Kyoto.
RISREBLANTZIETFNRL) He cannot have visited Kyoto.

RIEFE LN IARNTRE>7=20(C He should have visited Kyoto.
RITREBB LN IRNTTIEAN >0 (2 He shouldn't have visited Kyoto.

RIZEER >z I2EL AL He must have been a teacher.
RITFEERE > T=HELNARL He may have been a teacher.
RIZEER > 2IEFE He could have been a teacher.
RIFFEER > IEFHRARL He cannot have been a teacher.

RIZIET=_RAEL=IZELVZRLY  She must have played tennis.
RZIET_AEL=MrELNRL She may have played tennis.
RIZIET=ZRELREFE She could have played tennis.
REIET=RELRzIEFNRLY  She cannot have played tennis.

BLZIET_AEIARTFE>7=0IC  She should have played tennis.
REIET R EIRTTIFA->7=0I2 She shouldn't have played tennis.

BZIZBAIC L\ FzI2EL L) She must have been in Japan.
RZzigBAICL =2 ELNRL) She may have been in Japan.
RZiEBAIC L\ zIEF7E She could have been in Japan.

RZIEBAIC L FzIEF R She cannot have been in Japan.
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